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(A)? 5=~ B)*5=~ (C)% 10 ~ (D)> 10 ~

<fE47>

BR=5 5 (§5+5)(FB-5=10

FROEFF 10 ~

E Do

2. What is the difference between the largest even number and the smallest odd number composed
of three numbers 4, 5, and 8 (numbers are not repeated)? (A)451 (B)386 (C)369 (D)220

<jzi7>

B & = 18 #,i=854

B ez 5 #1=485

A 854-485=369

gcC ]

3. vt BlE 3 BB IS H? (A9 (B)I8 (C)16 (D)12 ﬁ
<fE47>

1+6+12=19
E A

4. LR E S HEARIE I S FREROBE G 4B LR R o
F A& 2 (A)90 (B)92 (C)94 (D)96

<fE47>

24x6=144

8+8+6+6+12+12=52

144-52=92

B
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5. 2 B : 36x56+36x84-36x39=? (A)3548 (B) 3636 (C)3764 (D) 3824
<fE47>

F 8 =36x(56+84-39)=36x101=3636

E B

- RSEEE 960 & o i BE- RHEME DA SR o R 12 2 % £ 1 PR
B AR PR 2 B A 0 PR - £ £ S BOER (A)238 (B) 239 (€)240 (D)241
<fE47>
¥rA=960+12+1=81
1= £=960+12x2=160
160+81=241
E Do

7. -Fyuilogd BRI GESE S FRT P LB 2B S A%J;Ym;z’ﬁ

B Fup e SRR o e R R4 T F0E 0 G A L F ke N pk o IRAE R T
R A E7(A)33(B)34 (C)35 (D)36
<ﬁ3=’%fr>
1B & F 8 6 - 2 0
2 B Lpk 0 1 2 3 4

1+7+15+10+1=34
R} 348 FB-

8. As shown in the picture, how many parallelograms (F = & ¥ 7}) are there in
the picture? (A)54 (B)56 (C) 58 (D)60
< )ﬁ):’ 7>

AA e

M2%5.7F 3 B= &a54pxk > 7 10352 3 2T 7o f7)

15.% 2 B= &254psd > 7 035 2 2T 7o 7

T 2~8 Ft1 H=T7X3+1 X2=23

@152 385 2B= £34pd > 70 | 2T 7§73

(1 ~3)~ (1 ~2)=2%1=2

@352 655 3= &a54pig > 7 uA)8 2 BT T i)
362568 @ -"N-~2~4H~3B~5 -GN~ (06~8~(7T-~8~(5~6)
(4 ~5)~ (2~ 3)=12Xx2=24

24+2=26

W15 ~25.~4%55 3B=&a54pag > 70352 | 2T 7w 83
Z(1-~2~4) ~(1-~3~6)=2X1=2
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GBS 75T 4Bz &254pd > ¥ 023 2w T Fe )
2(3~5-T) ~(2-5-~8)~ (@5~ 6)=3X2=6

2+6=8

G235 ~45 55 T75F 4B = &254pd > ¥ AR | 2T Fy fA)

(24~ 5-T)~(3-5-6-8)~(2-3-56)(2-3-4-5)~(@-~5-7-8) (567~
8)=6% 1=6

£ 5 23+26+8+6=63(" 2E % 4)

ZEFTEEES 0 240 9)

160 27 » 2 FIT 39k A B ehi Bt 2 T4 AT
<f#{7>
160+20=8
(160+30x3)+(30+20)=5
8-5=3

3’1’-]_3‘]]"}3 6 Tﬁifl’ﬁfl&ﬁté’ﬁ 2224252524428 = B3 EE A T
foE FLehT 04 B 5 26 0 R g THEE 4 AT

<fE47>

26x6=156

156-(22+24+25+25+24+28)=8

3. PAFNEFLE | BRESNDISHp ARG - B B THEIGET2NL o8 L
Tk 5 \P]1260\?’:4i’5 & XA REL Ao

<f%47>

1260+72=17....36

17+1=18

I FER 18X

4. Please calculate the value of 9999+999+99+9.
<fE47>
B 5 =10000-1+1000-1+100-1+10-1=11110-4=11106

5. XAV RGETS 20 & o X AGfoabi - £ 100 BERE > PR X A{oREIE R
e o

<fZ47>

20x2=40

100-40=60

60+(4+2)=10

10+20=30 » % 5 10+30=40 i

6. 3 3 IB#EPEmTTﬁb'?le#EPEm-ﬁ;ﬁ'%{%31]};]]1‘?- g;jg(ﬁf@#;ﬁi»)%i_ B
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7.* 4@ 8fr4 B OB - B A~Hc ok NS BURY
<fE47>

B~ N 88880000

B~ 1 #:80000888

Faf 2 B R:80080088(~F EAFE AL AN)

SR S N °

8. P A BRI A -BaE g s dpeani7 32 0a pBRFIER AR 12 202 5 4p
Bt paFm o e dIE AR TEY ) AR AR 30 202 A P v ATE B
T B ek LA RMETF o AREBE TR FRES B E - DR P8 RS
B ¥ A R

<}§';’+fr>
?=12> 2= ]-12
7 =30-12=18 » ¢ =12+30=42

42+(18+12)=42+1.5=28

[ ]-12=28 » [ =40

40-12x3=4

1]

EHEREGER 1057 3620 4) MR EBRT T4

1. Andy, May, and John shared 486 peaches. (' ) Andy got 6 times peaches as much as May,
and May got half as much as John. How many peaches did May get?

<fZ47>

486+(1+2+6)=54

¥ 54 3¢
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2. 4ol > HleF 1-9 A uE 4 BB > RiddE L REY B BT ApESDA B E
PlcF efoe w BT AIRAL RIS - BolS o TR o
(it BREHTT FREZRMUE AR BN endr feF T 3402
()it FREHF AL R B N9 B3 T A ApR?

<fE47>

()% 8 FE4(H 4R 3 15+ 8 3 F+AL R 2 %)

B] erfe=1+2=3

B e{e=8+9=17

24 15 B3 e (34)

EpERIOB—>F 0 34)

International Mathematics Contest (Taiwan) — &%(4 F4k)



